VCE & PDF https://www.passapply.com/000-272.html
2021 Latest passapply 000-272 PDF and VCE dumps Download

PassApply.com

000-2729%As

IBM WebSphere Message Broker V8.0 Solution Development

Pass IBM 000-272 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/000-272.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

000-272 Practice Test | 000-272 Exam Questions | 000-272 Braindumps 1/8


https://www.passapply.com/000-272.html
https://www.passapply.com/000-272.html
https://www.passapply.com/000-272.html

VCE & PDF https://www.passapply.com/000-272.html
2021 Latest passapply 000-272 PDF and VCE dumps Download

PassApply.com

QUESTION 1

A telecommunications customer needs to develop a flow that sends a message to invoke an existing business process
on WebSphere Process Server (WPS). The requirements do not call for a response message back from the flow. Which
node should the solution developer use to send the message to WPS?

A. SOAPRequest

B. CORBARequest

C. SCAReply

D. SCAAsyncRequest

Correct Answer: D

QUESTION 2

A solution developer needs to read records from a file every hour and insert them into a database. The solution
developer creates a flow using a TimeoutNotification node to start the flow, a FileRead node to read individual records
from the file and a Compute node to insert the records into the database. To ensure that all records are processed in a
unit of work, what must the solution developer do?

A. Check the Throw exception on database error option

B. Set the Transaction Mode of the TimeoutNotification node to Yes

C. Set the Record Detection option of the FileRead node to Whole File

D. Set the Operation Mode of the TimeoutNotification node to Controlled

Correct Answer: B

QUESTION 3

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed?

A. mgsilist

B. mqgsireadbar

C. mqsireportbroker

D. mgsireportproperties

Correct Answer: A
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QUESTION 4

A school website needs to retrieve student records from its PeopleSoft system. The broker needs to be configured to
utilize PeopleSoft JAR files. How should the solution developer implement this requirement?

A. Place the PeopleSoft provided files on the broker runtime file system and run : mgsichangebroker -| -v

B. Place the PeopleSoft provided files on the broker runtime file system and run: mgsichangeproperties -c EISProviders
-0 PeopleSoft -n jarsURL - v

C. Configure the broker to use the files that came with the installation and run: mgsichangeproperties -c EISProviders -0
PeopleSoft -n jarsURL - Viadapters\preregs\jars

D. Configure the application to use the relevant JAR files by adding external dependencies to the message broker
application in the Toolkit during development. The Toolkit will bundle these JAR files within the Broker Archive (BAR) file
for deployment.

Correct Answer: B

QUESTION 5

A solution developer needs to implement Web Services Reliable Messaging (WS- RM) on a message flow for a stock
trading company. During unit testing, the solution developer determines that only the first of four messages, expected in
order, have arrived at the destination. During troubleshooting, what conclusion must the solution developer come to?

A. The second message in the sequence is lost, and so the third and fourth messages have not processed yet.

B. The sequence number of message two has got out of sync and a reset needs to occur to allow the other messages to
flow to their target.

C. The data of message two is corrupt not allowing message three or four to be processed and those messages are
sitting on the reliable messaging source queue.

D. The data of message two is corrupt not allowing message three or four to be processed and those messages are
sitting on the reliable messaging destination queue.

Correct Answer: A

QUESTION 6

A customer uses a shared AIX server to store their source code and for building their source code for deployment. What
command must the solution developer use on this server to create a broker archive (BAR) file?

A. mgsireadbar

B. mqgsicreatebar

C. mgsipackagebar

D. mgsiapplybaroverride

Correct Answer: C
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QUESTION 7

A solution developer is setting up Message Broker for debugging flows. There is a need to set the JVM debug port to
2314 from command line for a specific execution group called "MDM" and a broker called "WMBBRK1". Which
command does the solution developer need to use?

A. mgsichangebroker WMBBRK1 -e MDM -0 ComlbmJVMManager -n jymDebugPort -v 2314

B. mgsireportproperties WMBBRK1 -e MDM -i ComlbmJVMManager -n jymDebugPort -v 2314

C. mgsichangeproperties WMBBRK1 -e MDM -0 ComlbmJVMManager -n jymDebugPort -v 2314

D. mgsichangeproperties WMBBRKL1 -e MDM -i ComlbmJVMManager -n jvmDebugPort -v 2314

Correct Answer: C

QUESTION 8

A message flow needs to be designed such that available messages must be processed in sequential order. Missing
messages in the sequence must be discarded if they appear later. The solution developer implements this message
flow using Sequence and Resequence nodes. To meet the specifications for this message flow, how should the solution
developer wire the Resequence node?

A. The Out, Expire, and Missing terminals should be wired together.

B. The Out terminal should be wired, but the Expire and Missing terminals should be left unwired.

C. The Out and Missing terminals should be wired together, and the Expire terminal should be left unwired.

D. The Out and Expire terminals should be wired together, and the Missing terminal should be left unwired.

Correct Answer: D

QUESTION 9

A solution developer needs to enhance a message flow with node information to aid in problem resolution, should there
be a failure within the flow. Consider the following flow, named "OrderProcess".
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What is the content of the Location tag in the message written to the ORDER.ERROR queue?
A.

B. OrderProcess.

C. OrderProcess.CalculatePrice

D. OrderProcess.CreateShippingInfo

E. OrderProcess.CreateShippingin fo

Correct Answer: A

QUESTION 10

A solution developer implemented a message flow for a book store company which receives an XML input message.
The input message is formed according to an XML schema supplied by the client and used by several other applications
owned by the company. The input node uses XMLNSC parser to parse the input message. The image below depicts a
sample XML input message. According to business needs, the bookDetails elements and all of its children are not
referenced by the code. Performance test for the flow showed a significant time spent in message parsing time
especially for large messages.
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<boockstore>
<boock category="Catli">
<title>bookl</titla>
<year>2009</year>
<price>59.99</prics>

<boockDetails authorsCount=3 suppli

<Ruthors>
<Author name="authorl"
<Author name="author2"
<Author name="author
</Authors>
<Suppliers>
<Supplier name
<Supplier n Q
</Suppliers

</bookDetail
<copies>4

es>

yv="Cat2">
rv="Cat3">
tegory="Catd4">

<bock category="Cat5">
<bocokstore>

What should the solution developer do to enhance the message parsing time ?
A. Use the MRM parser instead.

B. Set the parse timing to Complete.

C. Set the parse timing option to On Demand.

D. Add the bookDetails element to the XMLNSC parse Opaque elements

Correct Answer: D

QUESTION 11
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A broker application is deployed in a test environment. It is reported to be taking a long time to process messages. The
solution developer is asked to find the average time taken by this broker application. The solution developer can
determine this by enabling:

A. Service Trace

B. Resource Statistics

C. Message Flow Statistics

D. Message Queue Statistics

Correct Answer: C

QUESTION 12

A solution developer codes a JavaCompute node using a getJDBCType4Connection API call to connect to a JDBC
database that is globally coordinated, and then writes code to insert new records into that database based on the
contents of incoming MQ messages. The solution developer observes that database inserts are not rolled back if the
message flow experiences an error after this Compute node. What must the solution developer do to correct this?

A. Alter the code to use MbSQLStatement

B. Insert code to issue statements to rollback

C. Alter the Transaction Mode of the JavaCompute node to commit

D. Alter the type4DatasourceClassName property of the JDBCProvider

Correct Answer: D
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